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3321
B.A. (Third Year) EXAMINATION, 2016

ECONOMICS
Paper—I
{Quantitative Techniques in Economics}

Time : Three Hours

Maximum Marks : 100
PART - A (@US-37) [Marks : 20

Answer all questions (30 words each).
All guestions carry cqual marks.
7 9 AE T | W WY W IO U Tl 5 i 7 e

[T 991 & 39k HEE T

PART - B (@veg-9) [Marks : 50
Answer five questions (250 words cach).
Selecting one from each unit. All questions cary equal marks.
WeTHh W9 SR 39 270 YRl A stfush 9 8

T weEl F 3TF guE

PART - C (@us-71) EMarks @ 30
Answer any Hvo questions (300 words cach).
All questions carry equal marks.
15 S W9 AU | W W o SR 300 V] § A T 2
[t 9yt % 37 T ¥
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PART - A

(@us-39)

UNIT -1

(F=E-1)

T €5 Write the meaning of universe & sample.

qaY ug gfaest 1 Afyug sasd |

(ii) Differentiate between discrete and continuous series.

witeq ug tfafsss 2ot § 3= sifsa)

UNIT - 11

(FHTE-11)

(iii ) What is a statical average ?

gifegent A1eg =91 72
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(iv ) What is Skewness ?

faumar f&Q we8d €7
UNIT - II1
(FHTE-1I)

(v) What do you understand by 'Probable Error’ ?

Hyrsr fays | 379 =91 uHEa 7

(vi) Define coefficient of correlation. Distinguish between

positive and negative correlation.

TEETH U ! IRHIfud IS | $A1eTsh Jo1 ROMHS

TEEFY H 37 9y |
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UNIT - IV

(F=3-1V)

( vii ) What is a time series ? What are its uses ?

=Te] A0 F B2 T 1 ST R 2

( viii ) Distinguish between simple and weighted index

numbers.

e g qiftd guhis ¥ ST aasd |
UNIT -V
(3FTE-V)

(ix ) Define sampling & its different types.

wfa==a =1 aftufad 3 39% YR FaEd |
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( x) What are the difficulties in the copy of collection of

statistics in India.

WRd ¥ TH & Hhad A 3 Hfaaeal &2

PART - B

(@us-q)

UNIT -1

(3&T3-1)

2. Explain limitations of statistics and discuss the importance of

statistics in the present time.

Wifieaeht = GIAT3H it S FITAT FN II9E G853 H iz
& g 9AEY |
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3. Show clearly the necessity and importance of diagrams in

statistics. What precautions should be taken in drawing a good

diagram ?

gifeast § 931 1 avgsdr 991 98w T8 il | T 399
a3 =1 = | -7 et =6 &= § @ =96l ?

-

UNIT - 1I

(z=E-11)

4. From the following distribution of marks obtained by 100

students locate the median :

100 Taenfe & fa=fafaa.arais @ g1 J| Hifed :

Marks 0-10 10-20 20-30 30-40 40-50
TAish

No of students 8 30 40 12 10
faenfelai =t de&n
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5. From the following table, determine the value of quartiles, 3™

decile, and 65" percentile :

frer ol | wqgefe], I Tvme (3™ decile) 3TR wad vaae

(65" percentile) 1 Gfiahara HINTT :

Wage (Rs.) 50-59.99 50-6999 50-7999 50-890.99 50-99.99

TSl (%)
No. of WOfkers 11 28 60 8 100
AfiTeR] bt T

UNIT - III

(gwTE-111 )

6. Calculate Karl Pearson's coefficient of correlation between

'A' and 'B' series as under :

3321/6900 7 PTO.



‘F' AR ‘g’ Aoft F = = wHE Q e faads = ggaEy ‘

ol AT ST :
Series 'A’ e 46 ) 48 52 4 4 56 6 6
goit ‘ 37’
Series 'B’ 36 0 2 40 4 4 46 L8 0 32
goit ‘=’
7. From the following data calculate rank correlation coefficieint:
= g A Sifz gga== i e
>, O 115 109 112 8 98 98 120 100 98 118

b 75 W & M0 6 6 ¥ T3 68 &
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UNIT - IV

(3FR-1V )

8. Compute the trend line for the following data using the method

of least square :

frefefed w6 @ =g7aa o fafy gry ' swAfa" =1 worn st

Year 2000 2001 2002 2003 2004 2005 2006 2007
EL

Income 88 40 65 7 e o0 8 95
(in lakh Rs.)

Y (AE %)

9. Briefly describe different steps involved in the construction

of Index numbers.

el & Fmto & fafim =won @ dftra a7 ifsd
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UNIT -V

(FFE-V)

10. The following table gives the normal weight of a baby during

P

the first 6 months of life. Estimate the weight of a baby at

the age of 4 months.

=y aiferest & Sfie= & W9H 6 HE & oy &1 9@ 9R

g ¥ 14 IR HT A W Y F R F FTHH TS

Age in months 0 2 3 5 6
Y °E
Weight in Ibs 5 7 8 10 12
YR (9(Us)
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11. What do you mean by sampling ? Describe different methods

of sampling.

Freyi= (ufagga) =1 314 saed | wiawgw fafidi =1 avi sife )

PART - C

(@us-9q)

UNIT -1

(313-1)

12. What are secondary data ? Why is it necessary to scrativise
and edit them before use ? What precaution should be

necessary before using them ?

fedrgs 9% =1 319 €2 IT9M ¥ USS 3! Sig g Ui
| TS €7 3% ITAN FE Y U 1 Wawfagl KAt
arfga?
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UNIT - 11

(g&wTE-11)

13. From the following data calculate standard deviation and its

coefficient :

fama sfesl 3 Ja fage 3T SEe e 1 Fe

Age (Less than) 10 20 30 46 S0 60 N0 80

3y (¥ %H)

No. of Persons 15 30 33 75 100 110 115 125

=afegl = 9
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UNIT - 111

(FHTE-111)

14. The following figures relates to the height of 8 fathers and

their sons. Obtain regression equations by calculating lenth

regression coeflictents. Estimates the likely heights of son

when father's height 1s 67.5 inches.

FATHA TN A ek FATHA FHHON 1 A S | I

T e denfad 39 w1a wifsw sat= fran #1 $9% 67.5 59

il
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Height of father 65 66 67 67 68 & T B
{in inches)
(F=1 #)
Height of son 67 68 ©& 68 T2 MV O N
(in inches)
3 I SER
(3= #)
UNIT - IV
(FFE-IV)

15. From the following data calculate the Fisher's ideal index

number and show that it satisfies the time reversal test and

father reversal test.
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frafafaa aa  fewR &1 e guwie aiefod sifsa

3R Tag FIA fF g7 ey g3 IR -SShigdl U8 qaaaSohigd

Qe SIF HE R

Base Year

IR T8

Commodity Price Quantity

5 Fiad HTA
A 6 50
B 2 100
C 4 60
D 10 30
E 8 40
3321/6900 15

Current Year

HTe Fd

Price Quantity
HIAA HIT

10 56

2 120

6 60

12 24

12 36

PTO.



UNIT - V

(z=E-V)

16. Describe the organisation and functiors of 'Central statistical
orgari.sation’ in India. What suggestions would you offer to

make it more useful and efficient ?

g ¥ Fg Gifeas g 989 & T84 UE FIG] &1 Ui i |

T 37y IqART 3R gymae 9 % fau o = gEE dn?
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